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QUIZ-6
	 CHAPTER 2 (GRADED)	
1. When a person buys goods in a supermarket they have to pay at the checkout.
(a) Identify two input devices used at the checkout.
1.............................................................................................................................................................
...............................................................................................................................................................
2.............................................................................................................................................................
...........................................................................................................................................................[2]

b) Identify two output devices used at the checkout.
1.............................................................................................................................................................
...............................................................................................................................................................
2.........................................................................................................................................................[2]

2. Contactless debit cards are replacing standard debit cards. Some countries are introducing
contactless debit card transactions at ATM machines.

Give three disadvantages to the customer of using these cards at an ATM.
1 ............................................................................................................................................................
...............................................................................................................................................................
2 ............................................................................................................................................................
...............................................................................................................................................................
3 ............................................................................................................................................................
...........................................................................................................................................................[3]
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3. A school is holding an athletics competition. The timings of each running event will be measured
electronically using sensors at the start and finish. Runners begin a race in starting blocks. When
the starting pistol is fired the electronic timing starts. The winner of the race is the first to break the
light beam at the end of the race.

Complete the table using the most appropriate words from the list below.
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Infra-red sensor  Light sensor

pH sensor Pressure sensor

Moisture sensor

Sound sensor

Motion sensor

Temperature sensor

Device

Data from the starting pistol is read by this
device

This device detects that the athlete has left
the starting block

When the light beam is broken the data is
read by this device
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